
STEINWAY & SONS 
One Steinway Place 

Long Island City, NY 11105 

Parts Department 
PARTS PRICE LIST 

2013 

Phone: 718-204-3150      FAX: 718-267-3415 

Email address: Parts@steinway.com   FAX (toll free): 1-866-STEINWAY

Web address: http://parts.steinway.com 

Thank you for choosing genuine Steinway& Sons parts. When ordering, please provide your 

Customer Number, the part number of each item, and the quantity of the item(s) you wish to 

order. Also, please include the Steinway model and serial number information if possible to help 

ensure we accurately fill your order. Please note that some furniture parts are shipped slightly 

oversized to allow for custom fitting.  

For order fulfillment and shipping status, we recommend that you provide your email address. This 

will allow us to email you notification of shipment with the shipper tracking number for your 

convenience.  

We ship via UPS. Prices listed do not include shipping and handling. A boxing charge may be 

necessary on select parts when applicable. If items sustain damage during delivery, notify us 

immediately so that we can file a claim with UPS on your behalf.  

We offer a 30 day return policy on all orders. Please inspect your order upon receipt as we cannot 

make adjustments or credit your account after 30 days or on parts that have been altered. Certain 

items may incur a small restocking fee.  

For your protection, ship returns via UPS, Federal Express, or other methods that require a signature 

upon receipt. If returned items are lost and delivery verification is not available, we can not provide 

credit. Parts must be returned unused and in new condition. We must be advised prior to return to 

ensure credit.  

 We accept MasterCard, Visa, and American Express. 

 Please note that there is a $20.00 minimum per order.  

Prices and specifications are subject to change without notice 

Customer Number:_____________________________________________________ 

Page 1



 
STEINWAY & SONS 

One Steinway Place 

Long Island City, NY 11105 

 

Parts Department 
 

Quick Finder Guide 
            

 

                        ITEM                                                               PAGE NUMBER__ 
 

Action Flange Screws 3, 12, 21, 27 

Agraffe Sets 3, 4 

Backchecks 4 

Bass Strings 4 

Books and Publications 28 

Casters and Caster Chart 6, 30 

Damper Felts 7 

Decals 8 

Gifts (Steinway Boutique) 28 

Hammers and Hammer Chart 11, 12, 30 

Hammer Voicing Solution (Pre-mixed) 15 

Order Form 36 

Pedal and Trapwork Assemblies 19, 20, 26 

Pedal Cushions (Raviolis) 19 

Piano Legs and Leg Chart 16, 17 

Repetitions (whippens) 21 

Rubber Buttons and Button Chart 6, 32 

Sostenuto Assembly Chart 31 

Stringing Cloth 23 

Tools 24 

Tuning Pins 27 

Underlevers (back actions) 27 

Wrestplanks (pinblocks) 27 

 

Page 2



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

004430 ACTION RAIL FLANGE CLOTH - BLACK - 5/8" x 53" EA $10

004434 ACTION RAIL FLANGE RED BRAID-  53" EA $12

005171 ACTION FRAME RAIL BORED (LET-OFF)  - C/D EA $92

005151 ACTION FRAME RAIL BORED (LET-OFF) - A/B EA $84

005168 ACTION FRAME RAIL BORED (LET-OFF) - S/M/L/O EA $84

005170 ACTION FRAME RAIL BORED (HAM/REP) - D EA $84

005152 ACTION FRAME RAIL BORED (HAM/REP) - A/B EA $84

005167 ACTION FRAME RAIL BORED (HAM/REP) - S/M/L/O EA $84

006485 ACTION FRAME RAIL UNBORED - GRAND EA $64

000245 ACTION RAIL DOWEL - MAPLE - GRAND EA $15

008449 SCREW - ACTION FLANGE  (HAM/REP/DAMPER FLANGE) ST $45

008389 SCREW - ACTION BRACKET (SECURES ACTION TO FRAME) - 10 X 1" DZ $8

097875 ACTION FRAME - SHIPPING CARTON EA $28

006484 ACTION FRAME W/ LET-OFF BUTTONS - C/D EA $577

006483 ACTION FRAME W/ LET-OFF BUTTONS - A/B EA $567

006482 ACTION FRAME W/ LET-OFF BUTTONS - S/M/L/O EA $567

009062 ACTION FRAME SPACERS EA $9

006866 ACTION FRAME SUPPORT BLOCKS - D ST $122

006867 ACTION FRAME SUPPORT BLOCKS - B ST $129

006865 ACTION FRAME SUPPORT BLOCKS - S/M/L ST $122

009116 ACTION HANGER #1 (also  known as ACTION BRACKETS) EA $56

009117 ACTION HANGER #2 EA $56

009118 ACTION HANGER #3 EA $56

009119 ACTION HANGER #4 EA $56

009120 ACTION HANGER #5 EA $56

009121 ACTION HANGER #6 EA $56

009131 AGRAFFE 1 HOLE - 1/4'' DZ $59

009132 AGRAFFE 2 HOLE NARROW - 1/4'' DZ $59

009133 AGRAFFE 2 HOLE WIDE - 1/4'' DZ $59

009134 AGRAFFE 3 HOLE - 1/4" DZ $59

006853 AGRAFFE ASSORTMENT - 1/4" DZ $59

Contains 4 each of 009131, 009132, 009134

006852 AGRAFFE SET - D - 1/4" ST $243

Contains: 12-009131, 5-009133, 40-009134

006851 AGRAFFE SET - S/M/L/B - 1/4" ST $203

Contains: 12-009131, 16-009132, 4-009133, 32-009134

Page 3



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

006809 AGRAFFE 1 HOLE - 7/32'' DZ $59

006810 AGRAFFE 2 HOLE - 7/32" DZ $59

006811 AGRAFFE 3 HOLE - 7/32" DZ $59

006812 AGRAFFE ASSORTMENT - 7/32" DZ $59

Contains 4 each of 006809, 006810, and 006811

006502 AGRAFFE SET - D - 7/32" ST $243

Contains 12-006809, 5-006810, 40-006811

006501 AGRAFFE SET - S/M/L/B - 7/32" ST $203

Contains 12-006809, 17-006810, 32-006811

009114 AGRAFFE SHIMS - .021 DZ $7

009115 AGRAFFE SHIMS - .030 DZ $7

004484 BACKCHECK FELT ONLY - 3/4" x 23/32"  EA $7

005066 BACKCHECK SKIN - 31" x 1 3/4" STRIP (normally requires two strips) EA $44

006257 BACKCHECKS WITH WIRES - SET EA $263

006245 HAMBURG - BACK CHECKS W/ WIRES - SET ST $233

BACKRAIL CLOTH (see KEYFRAME/BACKRAIL CLOTH AND FELT)

004438 BALANCE RAIL BEARING FELT - GREY 3/8" x 50" SP $8

005048 BALANCE RAIL BEARINGS W/ FELT - GRAND/VERTICAL ST $39

007255 BALANCE RAIL FELT PUNCHINGS - WHITE ST $8

009047 BALANCE RAIL GLIDER STUDS -  3 1/4" DZ $58

008915 BALANCE RAIL PINS - S/M/L/O/A/B .146 x 2 3/16" ST $63

008906 BALANCE RAIL PINS - D .146 x 2 9/16" ST $63

005131 BALANCIER SKIN (4 STRIPS) EA $81

007263 BALANCIER ROUND RED PUNCHINGS ST $14

007256 BALANCIER-END RED FELT BLOCKS ST $8

006504 BASS STRING (SINGLE) - INDICATE MODEL & STRING # EA $29

007329 BASS STRING SET -  K52, VERTICAL (CURRENT) ST $225

007330 BASS STRING SET- 45/1098 VERTICAL ST $225

007336 BASS STRING SET - D (CURRENT) ST $265

007335 BASS STRING SET - B ST $243

007356 BASS STRING SET - B #577516 and above- (CURRENT) ST $243

007340 BASS STRING SET - A (CURRENT) ST $289

007339 BASS STRING SET - O (CURRENT) ST $233

007334 BASS STRING SET - L ST $233

007333 BASS STRING SET - M ST $233

007332 BASS STRING SET - S ST $233

Note: Contact Mapes (tel: 423-543-3700) for old style model O and model A bass strings.

Our current backcheck with wire is the recommended replacement for the older style 

backchecks. The current wire is slightly larger in diameter and stiffer thus allowing more 

consistent checking. The current smaller size of the backcheck is not a concern – the area of 

the backcheck utilized for checking the hammers works very well on the older actions. The 

larger wire also eliminates the need to plug and re-drill backcheck wire holes in the keys. Also, 

the total backcheck wire and head length is of sufficient length for the older actions. 

Page 4



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

023899 BENCH - EBONY WOOD TOP - GRAND EA $1,098

026781 BENCH - ADJ. ARTIST EBONY - VINYL EA $730

026780 BENCH - ADJ. ARTIST EBONY - LEATHER EA $1,136

026771 BENCH - ADJ. ARTIST DUET EBONY - VINYL EA $964

033899 BENCH - MAH. WOOD TOP - GRAND EA $1,391

036781 BENCH - ADJ. ARTIST MAH. SATIN - VINYL EA $692

236781 BENCH - ADJ. ARTIST MAH. SATIN LUSTER - VINYL EA $774

043899 BENCH - WAL. WOOD TOP - GRAND EA $1,430

046781 BENCH - ADJ. ARTIST WAL. SATIN - VINYL EA $692

246781 BENCH - ADJ. ARTIST WAL. SATIN LUSTER - VINYL EA $774

043897 BENCH - WAL. WOOD TOP - SK 501 (LOUIS X) GRAND EA $2,947

046255 BENCH - WAL. WOOD TOP UNFINISHED - SK 501 (LOUIS XV) GRAND EA $1,852

023816 BENCH - EBONY WOOD TOP - K52 EA $1,330

033816 BENCH - MAH. WOOD TOP - K52 EA $1,697

043816 BENCH - WAL. WOOD TOP - K52 EA $1,831

023815 BENCH - EBONY WOOD TOP - 1098 EA $1,051

033815 BENCH - MAH. WOOD TOP - 1098 EA $1,402

043815 BENCH - WAL. WOOD TOP - 1098 EA $1,587

023889 BENCH - EBONY WOOD TOP - 4510 EA $1,113

043889 BENCH - WAL. WOOD TOP - 4510 EA $1,705

003855 BENCH HARDWARE (COMPLETE) EA $34

008815 BRIDGE PINS #10 (100/SET) ST $16

008814 BRIDGE PINS #9 (100/SET) ST $16

008813 BRIDGE PINS #8 (100/SET) ST $16

008812 BRIDGE PINS #7 (100/SET) ST $16

BRIDGE ASSEMBLIES - NOT AVAILABLE

006409 BURN-IN STICK - BLACK EA $14

006410 BURN-IN STICK - MAHOGANY EA $14

006411 BURN-IN STICK - WALNUT EA $14

004500 BUSHING CLOTH - ACTION FLANGE - (6 pcs.) ST $9

007098 BUSHING CLOTH - DAMPER GUIDE RAIL EA $8

004402 BUSHING CLOTH FOR KEYS - 3/8" x 30" (4 pcs.) - Red ST $10

Page 5



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

007915 BUTTON - BLACK - CORNICE AND VERTICAL DZ $8

007913 BUTTON - BLACK - DESK BACK & FRAME STOP DZ $8

007951 BUTTON - BLACK - DESKFRAME RAIL - GRAND DZ $8

007914 BUTTON - BLACK - KEYBLOCK AND TOPSTICK DZ $8

007919 BUTTON - BLACK - KEYSLIP DZ $8

007986 BUTTON - BLACK - TOPSTICK DZ $8

007917 BUTTON - BLACK (FLAT) TOP - GRAND/VERTICAL DZ $8

007916 BUTTON - BLACK (ROUND) TOP - GRAND/VERTICAL DZ $8

007925 BUTTON - BROWN  (FLAT) TOP - GRAND/VERTICAL DZ $8

007923 BUTTON - BROWN - CORNICE AND VERTICAL DZ $8

007921 BUTTON - BROWN - DESK BACK & FRAME STOP DZ $8

007922 BUTTON - BROWN - KEYBLOCK AND TOPSTICK DZ $8

007924 BUTTON - BROWN (ROUND) TOP - GRAND/VERTICAL DZ $8

007927 BUTTON - DESKFRAME STOP / REAR W/ #008311 DZ $8

008960 CAPSTAN SCREW ST $64

SEE END OF LIST FOR CASTER CHART

008549 CASTER BRASS - NEW STYLE W/O S. (1 15/16") - B/D/K EA $62

008760 CASTER BRASS - OLD STYLE W/O SOCKET - B/D/K EA $49

CP8549 CASTER CHROME - NEW STYLE W/O SOCKET - B/D/K EA $125

008734 CASTER DBL. RUBBER W/O SOCKET- ALL GRAND - 2" DIA. EA $68

006868 CASTERS BRASS - HAMBURG X-LARGE - 3 1/2" DIAMETER ST $1,972

008387 SCREW - FOR CASTER # 6868 (6 PCS) ST $9

008769 CASTER BRASS - NEW STYLE W/O SOCKET - S/M/L EA $48

008794 CASTER BRASS - OLD STYLE W/O SOCKET -  S/M/L EA $41

CP8769 CASTER CHROME - NEW STYLE W/O SOCKET - S/M/L EA $83

008734 CASTER DBL. RUBBER W/O SOCKET- ALL GRAND - 2" DIA. EA $68

008764 CASTER RUBBER W/O SOCKET - FRONT 1098/45 EA $48

008767 CASTER RUBBER W/O SOCKET - REAR 1098/45 EA $49

008541 CASTER BRASS W/ SOCKET - 40" UPRIGHT EA $71

008531 CASTER BRASS W/O SOCKET - 4510 EA $57

008799 CASTER SOCKET - OLD STYLE - FOR #008794 EA $9

008770 CASTER SOCKET - NEW STYLE - FOR #008769/#008794/#008734 EA $9

CP8770 CASTER SOCKET - NEW STYLE - FOR #CP8769 EA $28

008550 CASTER SOCKET - NEW STYLE - FOR #008760/#008549/#008734 EA $12

CP8550 CASTER SOCKET - NEW STYLE - FOR #CP8549 EA $30

008773 CASTER SOCKET - FOR #008764/#008767/#008531 EA $9

008381 SCREW - CASTER SOCKET - #12 x 2 1/4" DZ $8

008824 CENTER PINS - 19 LONG (.048") OZ $56

008823 CENTER PINS - 19 SHORT OZ $56

008827 CENTER PINS - 19.5 LONG (.049") OZ $56

008826 CENTER PINS - 19.5 SHORT OZ $56

008834 CENTER PINS - 20 LONG (.050") OZ $56

008832 CENTER PINS - 20 SHORT OZ $56

008830 CENTER PINS - 20.5 LONG (.051") OZ $56

     Short pins are used for the fly (jack) and balancier (repetition lever)

     Long pins are used for the repetition and hammershank flanges

Page 6



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

CHEEK BLOCK - see KEYBLOCK

023271 CONSOLE (ABOVE REAR LEG) UNFINISHED EBONY -  B/D EA $124

023270 CONSOLE (ABOVE REAR LEG) UNFINISHED EBONY - S/M/L EA $119

008546 COVER CATCH GRAND (TOP)  FEMALE - BRASS EA $15

008544 COVER CATCH GRAND (TOP) MALE - BRASS EA $15

CP8546 COVER CATCH GRAND (TOP)  FEMALE - CHROME EA $25

CP8544 COVER CATCH GRAND (TOP)  MALE - CHROME EA $31

008340 COVER CATCH SCREW - BRASS DZ $8

DAMPER BACK ACTION ASSEMBLY (see UNDERLEVERS MOUNTED TO FRAME)

004359 DAMPER FELTS - C/D ST $106

004358 DAMPER FELTS - B ST $100

004354 DAMPER FELTS - A ST $104

004357 DAMPER FELTS - L/O ST $100

004356 DAMPER FELTS - M ST $100

004355 DAMPER FELTS - S ST $100

006860 HAMBURG DAMPER FELTS - SPECIFY MODEL ST $207

006328 DAMPER HEADS ONLY - C/D EA $212

006327 DAMPER HEADS ONLY - B EA $212

006329 DAMPER HEADS ONLY - A EA $212

006326 DAMPER HEADS ONLY - S/M/L/O EA $212

006315 DAMPER HEADS W/WIRE & FELT - D ST $407

006314 DAMPER HEADS W/WIRE & FELT - B ST $390

006320 DAMPER HEADS W/WIRE & FELT - A ST $393

006313 DAMPER HEADS W/WIRE & FELT L/O ST $397

006312 DAMPER HEADS W/WIRE & FELT - M ST $397

006311 DAMPER HEADS W/WIRE & FELT - S ST $397

006330 DAMPER WIRE SET - (BASS/TREB) - S/M/L/O/A/B/D ST $93

004407 DAMPER G. RAIL CLOTH - BLACK (ADHESIVE) 3/4" x 54" EA $8

007098 BUSHING CLOTH - DAMPER GUIDE RAIL EA $8

006863 DAMPER GUIDE RAIL (B/T) - C/D  (Wire holes not drilled) EA $91

006862 DAMPER GUIDE RAIL SET (B/T) - A/B  (Wire holes not drilled) EA $82

006861 DAMPER GUIDE RAIL SET (B/T) - S/M/L/O  (Wire holes not drilled) ST $82

Page 7



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

000241 DAMPER LIFTER DOWEL 1/2 x 4" (PITMAN) EA $7

005305 DAMPER STOP RAIL - C/D EA $64

005303 DAMPER STOP RAIL - S/M/L/O/A/B EA $60

008386 DAMPER STOP RAIL - SCREW DZ $8

004464 DAMPER STOP RAIL FELT - RED - 44" x 3/16" SP $8

DAMPER WIRE SCREWS AND SOCKETS - SEE UNDERLEVER WIRES AND SOCKETS

DAMPER UNDERLEVERS - SEE UNDERLEVERS

008011 DECAL - FALLBOARD BRASS - GRAND  (approximately 2  1/4"  X  9  5/8") EA $40

008015 DECAL - FALLBOARD BRASS - VERTICAL  (approximately 1  3/8"  X  6  3/4") EA $33

008012 DECAL - FALLBOARD (HISTORIC) BRASS - GRAND EA $50

CP8012 DECAL - FALLBOARD (HISTORIC) CHROME - GRAND EA $50

CP8011 DECAL - FALLBOARD CHROME - GRAND EA $47

008010 DECAL - SIDE BRASS - D  (approximately  4" X  14") EA $79

026536 DESK FRAME W/O HDW EBONY FINISHED - D - OLD STYLE EA $570

026568 DESK FRAME W/O HDW EBONY FINISHED - A/B - OLD STYLE EA $558

026567 DESK FRAME W/O HDW EBONY FINISHED - S/M/L - OLD STYLE EA $517

023333 DESK FRAME W/O HDW EBONY UNFINISHED - D - OLD STYLE EA $279

023332 DESK FRAME W/O HDW EBONY UNFINISHED - B - OLD STYLE EA $285

023331 DESK FRAME W/O HDW EBONY UNFINISHED - S/M/L - OLD STYLE EA $279

036567 DESK FRAME W/O HDW MAH. FINISHED - S/M/L - OLD STYLE EA $559

033331 DESK FRAME W/O HDW MAH. UNFINISHED - S/M/L - OLD STYLE EA $419

033467 DESK FRAME W/O HDW MAH. UNFINISHED - 1014 - OLD STYLE EA $745

046567 DESK FRAME W/O HDW WAL. FINISHED - S/M/L - OLD STYLE EA $559

043331 DESK FRAME W/O HDW WAL. UNFINISHED - S/M/L - OLD STYLE EA $419

043192 DESK FRAME W/O HDW WAL. UNFINISHED - S/M/L 501 - OLD STYLE EA $927

DESK FRAME W/O HDW EBONY FINISHED - D NEW STYLE EA call for pricing

DESK FRAME W/O HDW EBONY FINISHED - A/B -NEW STYLE EA call for pricing

DESK FRAME W/O HDW EBONY FINISHED - S/M/L -NEW STYLE EA call for pricing

DESK FRAME W/O HDW EBONY UNFINISHED - D -NEW STYLE EA call for pricing

DESK FRAME W/O HDW EBONY UNFINISHED - B -NEW STYLE EA call for pricing

DESK FRAME W/O HDW EBONY UNFINISHED - S/M/L -NEW STYLE EA call for pricing

DESK FRAME W/O HDW MAH. FINISHED - S/M/L -NEW STYLE EA call for pricing

DESK FRAME W/O HDW MAH. UNFINISHED - S/M/L -NEW STYLE EA call for pricing

DESK FRAME W/O HDW MAH. UNFINISHED - 1014 -NEW STYLE EA call for pricing

DESK FRAME W/O HDW WAL. FINISHED - S/M/L -NEW STYLE EA call for pricing

DESK FRAME W/O HDW WAL. UNFINISHED - S/M/L -NEW STYLE EA call for pricing

DESK FRAME W/O HDW WAL. UNFINISHED - S/M/L 501 -NEW STYLE EA call for pricing

026565 MUSIC DESK ASSEMBLY (W/ HDW) - EBONY FINISHED - D EA $1,621

026564 MUSIC DESK ASSEMBLY (W/ HDW) - EBONY FINISHED - O/A/B EA $1,482

026563 MUSIC DESK ASSEMBLY (W/ HDW) - EBONY FINISHED - S/M EA $1,408

026632 MUSIC DESK ASSEMBLY (W/HDW) - EBONY FIN- D - NEW STYLE DESK & FRAME EA $1,671

026631 MUSIC DESK ASSEMBLY (W/HDW) - EBONY FIN - OAB NEW STYLE DESK & FRAME EA $1,532

026630 MUSIC DESK ASSEMBLY (W/HDW) - EBONY FIN - SM NEW STYLE DESK & FRAME EA $1,458

Page 8



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008336 DESK HINGE SCREW - BRASS - 4 X 5/16 DZ $8

008557 DESK SUPPORTS - BRASS EA $60

008559 DESK SUPPORTS - CHROME PLATED EA $71

008553 DESK - BUTT HINGE BRASS - S/M/L EA $16

CP8553 DESK - BUTT HINGE CHROME - S/M/L EA $31

008571 DESK B. HINGE- BRASS- [T. STICK - GRD.]  [DESK - O/A/B/D] EA $13

CP8571 DESK B. HINGE-CHROME- [T. STICK- GRD.] [DESK B/D] EA $21

026571 DESK FRAME INDEXING BRACKET (EBONY FINISHED) EA $77

026636 DESK SUPPORT FRAME ASSY S-D  (EBONY FINISHED) EA $166

008375 SCREW - FOR DESK FRAME INDEXING BRACKET DZ $9

008554 HINGE - DESK FRAME ADJUSTABLE SUPPORT BAR (BRASS) EA $16

008337 SCREW - DESK FRAME ADJUSTABLE SUPPORT BAR (BRASS) - 6 X 5/16 DZ $9

CP8554 HINGE - DESK FRAME ADJUSTABLE SUPPORT BAR (CHROME) EA $20

CP8337 SCREW - DESK FRAME ADJUSTABLE SUPPORT BAR (CHROME) DZ $28

026502 DESK W/O HDW EBONY FINISHED - O/A/B/D EA $680

026501 DESK W/O HDW EBONY FINISHED - S/M  EA $640

023213 DESK W/O HDW EBONY UNFINISHED - O/A/B/D EA $575

023212 DESK W/O HDW EBONY UNFINISHED - L EA $550

023208 DESK W/O HDW EBONY UNFINISHED - S/M EA $550

036502 DESK W/O HDW MAH. FINISHED - L EA $833

036501 DESK W/O HDW MAH. FINISHED - S/M EA $833

036437 DESK W/O HDW MAH. FINISHED - 1014 EA $727

033212 DESK W/O HDW MAH. UNFINISHED - L EA $517

033208 DESK W/O HDW MAH. UNFINISHED - S/M EA $526

033463 DESK W/O HDW MAH. UNFINISHED - 1014 EA $573

046503 DESK W/O HDW WAL. FINISHED - O/A/B/D EA $886

046502 DESK W/O HDW WAL. FINISHED - L EA $833

046501 DESK W/O HDW WAL. FINISHED - S/M EA $833

043217 DESK W/O HDW WAL. UNFINISHED - O/A/B/D EA $529

043212 DESK W/O HDW WAL. UNFINISHED - L EA $527

043208 DESK W/O HDW WAL. UNFINISHED - S/M EA $527

000331 DESKFRAME SLIDES EBONY UNFINISHED - S/M (BASS & TREBLE) PR $41

026626 DESKFRAME SLIDES EBONY FINISHED - B (BASS & TREBLE) PR $205

036331 DESKFRAME SLIDES MAH. FINISHED - S/M (BASS & TREBLE) PR $193

036626 DESKFRAME SLIDES MAH. FINISHED - B (BASS & TREBLE) PR $208

046331 DESKFRAME SLIDES WAL. FINISHED - S/M (BASS & TREBLE) PR $138

008376 SCREW - DESKFRAME SLIDE DZ $8

008425 SCREW - DESKFRAME SLIDE - (REAR) - D DZ $8

008343 SCREW - DESK BUTT HINGE/DESK SUPRT- BRASS - 8 x 5/8 DZ $8

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ $8

Page 9



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008548 DESK/KEYLIP BUTT HINGE - BLACK - B/D (4 pcs.) ST $14

023242 DESKFRAME INDEXING BRACKET  ST $20

008340 SCREW - DESKFRAME INDEXING BRACKET  DZ $9

003226 DESK SUPPORT FRAME ASSY S-D EA $48

008554 DESK SUPPORT FRAME HINGE EA $16

008336 SCREW - DESK SUPPORT FRAME HINGE DZ $9

008809 DESKFRAME RAIL CONNECTOR PIVOT PIN DZ $20

007941 DESKFRAME RAIL CONNECTOR PIVOT PIN SLEEVE DZ $8

004436 DESKFRAME FELT - RED - 1 3/4" x 32" (2 PCS.) EA $8

007326 DEKSFRAME LEATHER - BLACK SP $13

007902 DESKFRAME FIBER PLATES - B/D EA $8

007903 DESKFRAME FIBER PLATES - S/M/L EA $6

008311 SCREW - KEYLID END/DESK FRAME STOP DZ $9

008672 DUPLEX SCALE SET - D ST $175

008673 DUPLEX SCALE SET - B ST $99

008905 DUPLEX SCALE SET - A (CURRENT) ST $98

008659 DUPLEX SCALE SET - L ST $100

008656 DUPLEX SCALE SET - M/O ST $104

008652 DUPLEX SCALE SET - S ST $112

006875 LOCK ESCUTCHEON - BRASS EA $29

004444 FALLBOARD (KEYLID) FELT - 49" x 1/2" SP $8

008851 FALLBOARD (KEYLID) SPRINGS - GRAND EA $7

008443 SCREWS - FALLBOARD SPRINGS - BRASS DZ $7

FOR FALLBOARD  - SEE KEYLID

007999 FIBERBOARD SHEETS - 24" x 40" - 1/32" THICK EA $33

007275 FLY PUNCHINGS - RED ST $11

008787 FLY/BALANCIER REGULATING SCREW ST $18

005126 FLY/BALANCIER REGULATING BUTTONS ST $21

005628 FLY/TNDR/BUTTON - NY IMPROVED ST $125

006825 FRONT RAIL KEY PINS - .128 x 1 9/16" ST $106

007272 FRONT RAIL PUNCHINGS - CLOTH ST $20

006878 GLUE - WHITE - WOODLOK  8 OZ. EA $18

Page 10



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

NY HAMMERS  (note - NYI denotes current production parts)

006215 NY HAMMERS - 7/32 BORE - C/D (20 NOTE BASS) ST $578

006214 NY HAMMERS - 7/32 BORE - A/B  (20 NOTE BASS) ST $556

006213 NY HAMMERS - 7/32 BORE - S/M/L/O  (26 NOTE BASS) ST $556

006255 NY HAMMERS - 3/16 BORE - C/D  (20 NOTE BASS) ST $575

006254 NY HAMMERS - 3/16 BORE - A/B  (20 NOTE BASS) ST $562

006253 NY HAMMERS - 3/16 BORE - S/M/L/O  (26 NOTE BASS) ST $562

005014 NY HAMMERS - 7/32 BORE (26 NOTE BASS) - 45/1098/K52 ST $590

005016 NY HAMMERS - 7/32 BORE (28 NOTE BASS) - F ST $529

005015 NY HAMMERS - 7/32 BORE (32 NOTE BASS) - 40/100 ST $529

005013 NY HAMMERS - UNBORED - 45/1098/K52 ST $514

006275 NY HAMMERS - UNTAPERED/UNBORED - C/D ST $557

006274 NY HAMMERS - UNTAPERED/UNBORED - A/B ST $573

006273 NY HAMMERS - UNTAPERED/UNBORED - S/M/L/O ST $533

NY HAMMERS GLUED TO NY SHANKS & FLANGES

006230 NY HAMMERS GLUED TO NY S/F (5 1/8") - C/D - NYI ST $1,426

006229 NY HAMMERS GLUED TO NY S/F (5 1/8") - A/B - NYI ST $1,394

006228 NY HAMMERS GLUED TO NY S/F (5 1/8") -S/M/L/O - NYI ST $1,394

NY HAMMERS GLUED TO NY OCTAGONAL SHANKS & FLANGES

006234 NY HMRS GLUED NY (HAM. STYLE) S/F (5 1/8") - C/D EA $1,497

006233 NY HMRS GLUED NY (HAM. STYLE) S/F (5 1/8") - A/B EA $1,484

006232 NY HMRS GLUED NY (HAM. STYLE) S/F (5 1/8")-S/M/L/O EA $1,385

NY HAMMERS GLUED TO PRE '84 SHANKS & FLANGES

006220 NY HAMMERS GLUED HAM. S/F (5 1/8") - C/D - PRE '84 ST $1,443

006219 NY HAMMERS GLUED HAM. S/F (5 1/8") - A/B - PRE '84 ST $1,420

006218 NY HAMMERS GLUED HAM. S/F (5 1/8") -S/M/L/O - PRE '84 ST $1,394

NY HAMMERS GLUED TO HAMBURG SHANKS & FLANGES

006210 NY HAMMERS GLUED TO HAMBURG S/F (5 1/8") - C/D ST $1,471

006209 NY HAMMERS GLUED TO HAMBURG S/F (5 1/8") - A/B ST $1,453

006208 NY HAMMERS GLUED TO HAMBURG S/F (5 1/8") - S/M/L/O ST $1,418

Please note:  Preglued hammers are suitable for use on pianos with a hammer-hanging 
distance of 5⅛". Since 1992 our standard hanging distance has been 5⅛”. On years prior 
to 1992, it is recommended to check this dimension.  For pianos with a different 
measurement, hammers and hammershanks should be purchased separately and glued 
up by the technician according to the original hammer-hanging distance and 
strikepoint.  Steinway & Sons does not offer custom hammer-hanging for older pianos. 

 

Page 11



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

HAMBURG HAMMERS

006247 HAMBURG HAMMERS - UNBORED - C/D ST $902

006246 HAMBURG HAMMERS - UNBORED - A/B ST $868

006241 HAMBURG HAMMERS - UNBORED - S/M/L/O ST $868

006285 HAMBURG HAMMERS BORED - C/D - SPECIFY NY OR HAM. ST $918

006284 HAMBURG HAMMERS BORED - A/B - SPECIFY NY OR HAM. ST $877

006283 HAMBURG HAMMERS BORED - S/M/L/O - SPEC. NY OR HAM. ST $860

HAMBURG HAMMERS GLUED TO HAMBURG SHANKS & FLANGES

006290 HAMBURG HAMMERS GLUED TO HAMBURG S/F - C/D ST $1,848

006289 HAMBURG HAMMERS GLUED TO HAMBURG S/F - A/B ST $1,785

006288 HAMBURG HAMMERS GLUED TO HAMBURG S/F - S/M/L/O ST $1,820

006617 HAMMERSHANK W/ FLANGE - Current production (NYI) ST $670

HH6618 HAMMERSHANK W/ FLNG - NYI HAM. PROFILE (OCTAGONAL) ST $680

005760 HAMMERSHANK WITH FLANGE - HAMBURG ST $707

005017 HAMMERSHANK WITH FLANGE - Used in pre 1984 production - #6617 recommended replacement ST $707

005633 HAMMERSHANK FLANGES ONLY - NY LOW-PROFILE ST $112

HAMMER FLANGE RAIL CLOTH (see ACTION FLANGE RAIL CLOTH)

004496 HAMMER REST FELT - 5/8" x 18" - UNCUT (2 PCS.) ST $11

008651 HAMMERSHANK FLANGE DROP SCREW ST $32

008449 SCREW - ACTION FLANGE ST $45

008561 BUTT HINGE ASSEMBLY - TOP - D EA $43

008562 BUTT HINGE ASSEMBLY - TOP - B EA $43

008560 BUTT HINGE ASSEMBLY - TOP - M/L EA $43

008565 BUTT HINGE ASSEMBLY - TOP - S EA $43

008558 BUTT HINGE ASSEMBLY - TOP - 1098/4510/140TH EA $31

CP8561 BUTT HINGE ASSEMBLY - TOP - CHROME - D EA $60

CP8562 BUTT HINGE ASSEMBLY - TOP - CHROME - B EA $55

CP8560 BUTT HINGE ASSEMBLY - TOP - CHROME - M/L EA $50

CP8565 BUTT HINGE ASSEMBLY - TOP - CHROME - S EA $50

CP8558 BUTT HINGE ASSEMBLY - TOP- CHROME - 1098/4510/140TH EA $36

008342 SCREW - TOP BUTT HINGE - #8 x 5/8" - B/D DZ $8

008415 SCREW - BUTT HINGE (CASE) - #10 x 1 1/4" DZ $10

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ $8

Our recommendation for shanks and flanges:  The NYI (New York Improved) shanks and flanges 

should be used on any Steinway & Sons action from any vintage that has the metallic action 

rails with the rosette design. The placement of the knuckle is approximately 1 mm further 

toward the hammer thus providing better action efficiency. It is also recommended to 

anticipate some re-weighing of the keys whenever new hammers, shanks/flanges, and/or 

repetitions are installed on older pianos. In the rare event that a problem is encountered with 

inadequate let-off adjustment, our let-off button (part #5070) will allow for closer setting of the 

let-off due to its thinner profile. 

Page 12



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008571 HINGE - [TOPSTICK - GRAND]  [DESK - B/D] EA $13

008591 HINGE - CONTINUOUS SECTIONAL - BRASS - GRAND/K * EA $105

CP8591 HINGE - CONTINUOUS SECTIONAL - CHROME - GRAND/K * EA $171

 * Rod = 60.5"   Hinges = 54"   (Assembly contains ten 5" and one 4" sections)

       5" sections not sold individually

008594 HINGE - 4'' SECTION - BRASS (USE W/ #008591 - D/K) EA $9

CP8594 HINGE - 4" SECTION - CHROME (USE W/ #CP8591 - D-K) EA $16

008443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - BRASS DZ $7

CP8443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - CHROME DZ $10

008584 HINGE - CONTINUOUS NON-SECTIONAL BRASS - FALLBOARD - K52 EA $69

008582 HINGE - CONTINUOUS  NON-SECTIONAL BRASS - FALLBOARD - 1098 - 52" EA $107

008592 HINGE PINS - S/M/L/O/A/B/D - BRASS EA $8

CP8592 HINGE PINS - S/M/L/O/A/B/D - CHROME EA $8

008574 HINGE PINS - 'L' SHAPED - BRASS EA $6

007988 HINGE PIN RUBBER TIPS DZ $8

008839 HITCH PINS  5/8 X .151 DZ $9

008845 HITCH PINS  5/8 X .157 DZ $9

008842 HITCH PINS  7/8 X .149 DZ $9

008843 HITCH PINS  7/8 X .150 DZ $9

008844 HITCH PINS  7/8 X .151 DZ $9

JACK - see FLY

006833 KEY COVER SHEETS - FLAT/OVERSIZED - GRAND (CURRENT) ST $63

006833 KEY COVER SHEETS - FLAT/OVERSIZED - GRAND (CURRENT) DZ $12

006832 KEY COVERS -MOLDED/WHITE/PRE '84 - GRAND ST $48

006848 KEY COVERS - KLUGE WOODEN SHARPS - GRAND (36 PCS.) ST $188

006835 KEY COVERS - PLASTIC SHARPS -S/M/L/O/A/B (36 PCS.) ST $168

006826 KEY BUTTONS - UNCUT - LACQUERED W/ FELT BUSHING ST $107

004466 KEY END FELT - 7/8" x 33" (RED FELT) EA $8

009092 KEY LEADS - LARGE  (34 PCS.) ST $25
009093 KEY LEADS - SMALL (60 PCS.) ST $25
008797 LOCK KEY - GRAND EA $25

023233 KEYBLOCK - (PAIR) EBONY UNFINISHED - D (2 PCS.) EA $95

023553 KEYBLOCK- (PAIR) EBONY UNFIN.- S/M/L/O/A/B (2 PCS.) EA $130

009025 KEYBLOCK PLATE - TREBLE/BASS EA $10

008133 SCREW - KEYSLIP/KEYBLOCK GUIDES DZ $8

008278 SCREW - KEYBLOCK PLATE - BLACK DZ $8

008345 SCREW - T. STICK & DSK HINGE/KEYBLOCK PLATE - BRASS DZ $8

CP8345 SCREW - T. STICK HINGE/KEYBLOCK PLATE - CHROME DZ $11

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST $8

Page 13



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008314 KEYFRAME GUIDE END PINS (4 PCS.) ST $8

000022 KEYFRAME HOLD DOWN DAG EA $16

004418 KEYFRAME REST BLOCK FELT - 1"x 9" x .075" EA $7

007125 KEYFRAME W/ KEYS - D EA $4,251

007124 KEYFRAME W/ KEYS - B EA $4,042

007123 KEYFRAME W/ KEYS - S/M/L/O EA $3,452

097195 KEYFRAME W/ KEYS - SHIPPING CARTON EA $175

004490 KEYFRAME/BACKRAIL CLOTH & FELT (RED & GREEN) EA $16

026539 KEYLID - EBONY FINISHED - D EA $848

026538 KEYLID - EBONY FINISHED - B EA $734

026537 KEYLID - EBONY FINISHED - S/M/L EA $606

023324 KEYLID - EBONY UNFINISHED - D EA $647

023323 KEYLID - EBONY UNFINISHED - B EA $647

023322 KEYLID - EBONY UNFINISHED - S/M/L EA $417

036537 KEYLID - MAH. FINISHED - S/M/L EA $848

046537 KEYLID - WAL. FINISHED - S/M/L EA $902

026558 KEYLID LIP- EBONY FINISHED - D (FOR #026539) EA $233

026557 KEYLID LIP - EBONY FINISHED - B (FOR #026538) EA $233

008548 KEYLID LIP HINGE (BLACK) SET OF FOUR SET $15

008232 SCREW - KEYLIP HINGE - BLACK - #4 x 1/2" DZ $8

008231 SCREW- KEYLIP HINGE - BLACK - #4 x 5/16" DZ $8

008311 SCREW - KEYLID END/DESK FRAME STOP DZ $9

009023 KEYLID PIVOT BAR - BRASS EA $9

008346 SCREW - KEYLID PIVOT BAR DZ $8

NOTE:  The keyframe with keys is not fully "loaded"; in other words, it needs to be 

custom-fitted (trimmed) to the piano on 3 sides, and it needs balance rail bearings, 

capstans, backchecks, front rail punchings, balance rail punchings, balance rail cloth, 

back rail cloth, keyblock guide pins, wooden wedges (walnut), key end felt, sostenuto 

monkey guides, and sostenuto monkey spring block and spring.  The keyframe with keys 

comes with a preleading schedule that begins with 2 large leads in the bass.  In addition 

to the extra parts listed above, the keys will have to be weighed off with the appropriate 

addition of leads in the keys. 

 

A good knowledge of grand finishing is necessary in order to successfully replace the 

keyframe with keys in a Steinway grand piano.  You need to know where to place the 

capstans, and how thick to make the wooden wedges in order to set action height in 

relation to the strings. 

 

Page 14



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

026541 KEYSLIP - EBONY FINISHED - D EA $274

026540 KEYSLIP - EBONY FINISHED - S/M/L/A/B EA $265

023247 KEYSLIP - EBONY UNFINISHED - D EA $103

023249 KEYSLIP - EBONY UNFINISHED - S/M/L/A/B EA $97

036541 KEYSLIP - MAH. FINISHED - D EA $297

036569 KEYSLIP - MAH. FINISHED - B EA $275

036540 KEYSLIP - MAH. FINISHED - S/M/L EA $289

033247 KEYSLIP - MAH. UNFINISHED - D EA $119

033249 KEYSLIP - MAH. UNFINISHED - S/M/L EA $97

046541 KEYSLIP - WAL. FINISHED - D EA $319

046569 KEYSLIP - WAL. FINISHED - B EA $268

046540 KEYSLIP - WAL. FINISHED - S/M/L EA $286

043247 KEYSLIP - WAL. UNFINISHED - D EA $134

043539 KEYSLIP - WAL. UNFINISHED - B EA $97

043249 KEYSLIP - WAL. UNFINISHED - S/M/L EA $114

008833 KEYSLIP PINS DZ $30

008133 SCREW - KEYSLIP/KEYBLOCK GUIDES DZ $8

004480 KEYSTOP RAIL FELT W/ ADHESIVE - 53 1/2" x 3/4" EA $7

008605 KEYSTOP RAIL PROP NUT - OCTAGONAL DZ $7

008741 KEYSTOP RAIL PROP NUT - SQUARE DZ $8

008733 KEYSTOP RAIL PROP SCREW - GRAND DZ $8

000012 KEYSTOP RAIL W/ FELT - D EA $58

000011 KEYSTOP RAIL W/ FELT - B EA $58

000010 KEYSTOP RAIL W/ FELT - S/M/L/O EA $56

000017 KEYSTOP RAIL W/ FELT - A EA $56

008600 KNOBS - BRASS - SHERATON 4510 EA $15

008598 KNOBS - BRASS - VERTICAL EA $25

        NOTE: LACQUER CANNOT BE RETURNED

007728 LACQUER - BLACK - GALLON (SHIPPED FROM SUPPLIER ) GA $90

007724 LACQUER - CLEAR - GALLON (SHIPPED FROM SUPPLIER ) GA $90

007566 LACQUER - BLACK - BOTTOM COAT - GAL. (SHIPPED FROM SUPPLIER ) GA $98

005769 LACQUER - BROWN - BOTTOM COAT - GAL. (SHIPPED FROM SUPPLIER ) GA $98

007726 LACQUER - HAMMER VOICING SOLUTION PRE-MIXED (SHIPPED FROM SUPPLIER) QT $28

007601 LUBRICANT - TFL-50 TEFLON SPRAY - 5 OZ. CAN EA $20

Page 15



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

097194 SINGLE LEG & LYRE - SHIPPING CARTON EA $55

097193 MULTIPLE LEG - SHIPPING CARTON EA $137

026576 LEG - EBONY FINISHED - NEW PLATE DESIGN - S/M/L/O/A EA $615

023253 LEG - EBONY UNFINISHED - NEW PLATE DESIGN - S/M/L/O/A EA $349

026577 LEG - EBONY FINISHED - NEW PLATE DESIGN - B/D EA $585

023262 LEG - EBONY UNFINISHED - NEW PLATE DESIGN - B/D  EA $366

026532 LEG - EBONY FINISHED - FRONT - S/M/L (22 5/8") - OLD STYLE LEG PLATE EA $434

026533 LEG - EBONY FINISHED - REAR - S/M/L  (22 7/8") - OLD STYLE LEG PLATE EA $434

036532 LEG - MAH. FINISHED - FRONT - S/M/L  (22 5/8") - OLD STYLE LEG PLATE EA $630

036533 LEG - MAH. FINISHED - REAR - S/M/L  (22 7/8") - OLD STYLE LEG PLATE EA $630

033251 LEG - EBONY/MAH. UNFINISHED - FRONT - S/M/L (22 5/8") - OLD STYLE LEG PLATE EA $387

033252 LEG - EBONY/MAH. UNFINISHED - REAR - S/M/L  (22 7/8") - OLD STYLE LEG PLATE EA $387

046532 LEG - WAL. FINISHED - FRONT - S/M/L  (22 5/8") - OLD STYLE LEG PLATE EA $968

046533 LEG - WAL. FINISHED - REAR - S/M/L   (22 7/8") - OLD STYLE LEG PLATE EA $968

043251 LEG - WAL. UNFINISHED - FRONT - S/M/L  (22 5/8") - OLD STYLE LEG PLATE EA $416

043252 LEG - WAL. UNFINISHED - REAR- S/M/L   (22 7/8") - OLD STYLE LEG PLATE EA $416

006840 HAMBURG SHORT LEGS - MADE IN GERMANY - EBONY POLISH ST $2,712

026575 HAMBURG SHORT LEGS - NY MADE - EBONY FINISHED - OLD PLATE DESIGN ST $1,556

026531 HAMBURG SHORT LEGS - NY MADE - EBONY UNFINISHED - OLD PLATE DESIGN ST $1,410

026574 HAMBURG SHORT LEGS - NY MADE - EBONY FINISHED - NEW PLATE DESIGN ST $1,571

026573 HAMBURG SHORT LEGS - NY MADE - EBONY. UNFINISHED - NEW PLATE DESIGN ST $1,436

12P575 HAMBURG SHORT LEGS - NY MADE - EBONY HIGH GLOSS - NEW PLATE DESIGN ST $2,310

Steinway Leg Chart  -  New York Pianos

 NEW OLD NEW OLD NEW OLD 

EBONY 

B/D Short Legs 026574 026575 12P575 12P574 026573 026531

B/D Long Legs 026577 026611 12P577 12P611 023262 023263

S/M/L/O/A Front * 026576 026532 12P576 n/a 023253 023251

S/M/L/O/A Rear * n/a 026533 n/a n/a n/a 023525

MAHOGANY  

B/D Long Legs 036577 036611 n/a n/a 033262 033263

S/M/L/O/A Front * 036576 036532 n/a n/a 033253 033251

S/M/L/O/A Rear * n/a 036533 n/a n/a n/a 033252

WALNUT   

B/D Long Legs 046611 ** 046611** n/a n/a n/a 043263

S/M/L/O/A Front * 046532 ** 046532 ** n/a n/a 043253 043251

S/M/L/O/A Rear * n/a 046533 n/a n/a n/a 043252

* After Serial Number 573000, use all front legs

** Specify Old or New Plate when ordering

SATIN POLYESTER RAW

Page 16



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

026611 LEG - EBONY FINISHED W/O HDW. - B/D - OLD PLATE DESIGN EA $460

12P611 LEG - EBONY (HIGH GLOSS) FINISHED W/O HDW. - B/D - OLD PLATE DESIGN EA $587

12P577 LEG - EGONY (HIGH GLOSS) FINISHED W/O HDW - B/D - NEW PLATE DESIGN $670

023263 LEG - EBONY UNFINISHED W/O HDW. - B/D - OLD PLATE DESIGN EA $356

036611 LEG - MAH. FINISHED W/O HDW. - B/D EA $586

033263 LEG - MAH. UNFINISHED W/O HDW. - B/D EA $426

033481 LEG - MAH. UNFINISHED - FRONT - 1014 EA $1,226

033476 LEG - MAH. UNFINISHED - REAR - 1014 EA $1,226

046428 LEG - WAL. FINISHED W/O HDW. - 4510 (VERTICAL) EA $356

041180 LEG - WAL. UNFINISHED W/O HDW. - 4510 (VERTICAL) EA $211

000321 LEG & LYRE BUTTONS - S/M/L EA $24

000324 LEG & LYRE LOCKING WEDGES - B/D PR $35

097873 LEG/LYRE PLATE LOCK - HEX KEY (USE W/ #009060) (8 mm or 5/16” Allen key ) EA $4

009060 LEG & LYRE PLATE LOCKS (M & F) - NEW STYLE (USE W/ #097873) EA $38

008110 LEG/LYRE PLATE LOCK BOLT - SET OF 4 ST $8

009061 LEG & LYRE PLATE LOCKS (M & F) - ORIGINAL STYLE EA $31

008356 SCREW - LEG & LYRE BUTTON/WEDGE - 2 1/4" DZ $8

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST $8

005070 LET-OFF BUTTON W/ PUNCHING (THIN) NON-STANDARD ST $62

005071 LET-OFF BUTTON W/ PUNCHING - STANDARD ST $87

005072 LET-OFF BUTTON W/ PUNCHING (THICK) NON-STANDARD ST $64

005119 LET-OFF REGULATING BUTTON W/O FELT 5/16 ST $16

005108 LET-OFF REGULATING BUTTONS 15/64" W/O FELT ST $16

007264 LET-OFF REGULATING PUNCHINGS (NY) ST $9

008944 LET-OFF REGULATING SCREWS ST $18

023188 LOCKBAR - EBONY UNFINISHED - D EA $124

026529 LOCKBAR - EBONY FINISHED - B EA $260

023186 LOCKBAR - EBONY UNFINISHED - B EA $124

023185 LOCKBAR - EBONY UNFINISHED - L EA $89

023358 LOCKBAR - EBONY UNFINISHED - S/M EA $83

004420 LOCKBAR FELT - 1 5/16" x 56" EA $7

008392 SCREW - LOCKBAR/SIDE PROTECT. RUNNER - D (6 PCS.) - ALL MODELS ST $8

Page 17



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

       LYRES USE OLD STYLE LOCK PLATES UNLESS NOTED OTHERWISE.

        LENGTHS DO NOT INCLUDE LYRE BOX BOTTOM PIECE.

026549 LYRE - EBONY FINISHED W/O HDW. - GRAND - 21 1/2" - NEW LOCK PLATE EA $660

12P546 LYRE - EBONY HIGH POLISH POLY W/O HDW - GRAND  - 21 1/2" - NEW LOCK PLATE EA $792

026551 LYRE - EBONY UNFINISHED W/O HDW. - GRAND - 21 1/2" - NEW LOCK PLATE EA $465

026546 LYRE - EBONY FINISHED W/O HDW. - GRAND - 21 1/2" EA $602

026559 LYRE - EBONY UNFINISHED W/O HDW. - GRAND - 21 1/2" EA $419

036546 LYRE - MAH. FINISHED W/O HDW. - GRAND - 21 1/2" EA $540

036559 LYRE - MAH. UNFINISHED W/O HDW. - GRAND - 21 1/2" EA $460

046546 LYRE - WAL. FINISHED W/O HDW. - GRAND - 21 1/2" EA $567

046559 LYRE - WAL. UNFINISHED W/O HDW. - GRAND - 21 1/2" EA $430

026548 LYRE - EBONY FINISHED W/O HDW. - GRAND - 20 13/16" EA $505

026550 LYRE - EBONY UNFINISHED W/O HDW.- GRAND -20 13/16 EA $330

036548 LYRE - MAH. FINISHED W/O HDW. - GRAND - 20 13/16" EA $529

036550 LYRE - MAH. UNFINISHED W/O HDW.- GRAND - 20 13/16" EA $336

046548 LYRE - WAL. FINISHED W/O HDW.- GRAND - 20 13/16" EA $546

046550 LYRE - WAL. UNFINISHED W/O HDW.- GRAND - 20 13/16" EA $350

033485 LYRE - MAH. UNFINISHED W/O HDW. - 1014 CHIP. EA $1,281

043485 LYRE - WAL. UNFINISHED W/O HDW. - 1014 CHIP. EA $1,416

003284 LYRE BOX BOTTOM PIECE - UNFINISHED - 1/2" (FOR ALL LYRES ABOVE) EA $25

SEE LYRE HARDWARE CHART AT THE END FOR CONTENTS OF THE SETS

006819 LYRE HARDWARE SET - BRASS - COMPLETE (NEW STYLE LOCK) ST $402

006816 LYRE HARDWARE SET - BRASS - COMPLETE (OLD STYLE LOCK) ST $395

CP6816 LYRE HARDWARE SET - CHROME - COMPLETE (OLD STYLE LOCK) ST $475

008611 LYRE ORNAMENT W/ ROSETTES EA $225

009061 LEG & LYRE PLATE LOCKS (ORIGINAL) EA $31

009060 LEG & LYRE PLATE LOCKS (NEW STYLE) EA $38

008356 SCREW - LEG & LYRE BUTTON/WEDGE - 2 1/4" DZ $8

008107 SCREWS - LYRE PLATE MOUNTING - NEW STYLE DZ $8

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST $8

003285 LYRE STICKS - UNFINISHED - 25"  (EBONY/MAH./WAL.) PR $69

026554 LYRE STICKS - EBONY FINISHED PR $281

026560 LYRE STICKS - EBONY FINISHED - ROUND TAPERED (CURRENT) PR $281

036554 LYRE STICKS - MAH. FINISHED PR $287

046554 LYRE STICKS - WAL. FINISHED PR $288

033443 LYRE STICKS - MAH. UNFINISHED - 1014/501 (ROUND) PR $107

043443 LYRE STICKS - WAL. UNFINISHED - 1014/501 (ROUND) PR $114

000336 LYRE TOP BLOCK - UNFINISHED - GRAND EA $98

Page 18



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

009056 NOSE BOLT NUT - LARGE (ACORN CAP NUTS) EA $11

009153 NOSE BOLT NUT - SMALL (ACORN CAP NUTS) EA $10

009037 NOSEBOLT #1 - BASS - 8 3/8" - D  (USES #009153 NUT) EA $20

009034 NOSEBOLT #1 - BASS - 8 9/16" - B  (USES #009153 NUT) EA $20

009031 NOSEBOLT #1 - BASS - 8 1/4" - S/M/L  (USES #009153 NUT) EA $20

009038 NOSEBOLT #2 - MID - 6 3/8" - D  (USES #009056 NUT) EA $20

009035 NOSEBOLT #2 - MID - 7 1/2" - B  (USES #009056 NUT) EA $20

009032 NOSEBOLT #2 - MID - 6 1/6" - S/M/L  (USES #009056 NUT) EA $20

009039 NOSEBOLT #3 - TREBLE - 6 5/8" - D  (USES #009056 NUT) EA $20

009036 NOSEBOLT #3 - TREBLE - 6 3/8" - B  (USES #009056 NUT) EA $20

009033 NOSEBOLT #3 - TREBLE - 6 5/8" - S/M/L  (USES #009056 NUT) EA $20

007750 PAINT-PLATE POWDER  - STEINWAY GOLD - 4 OZ. JAR EA $25

007735 PAINT- PLATE SPRAY - STEINWAY GOLD - 12 OZ. CAN EA $31

PEDALS NOT AVAILABLE FOR SQUARE GRANDS, OBSOLETE VERTICALS,

     OR PIANOS WITH TWO PEDAL CONFIGURATIONS

008676 PEDAL - LEFT BRASS - GRAND EA $58

008675 PEDAL - CENTER BRASS - GRAND EA $58

008677 PEDAL - RIGHT BRASS - GRAND EA $58

008679 PEDAL ASSEMBLY COMPLETE - BRASS - GRAND EA $260

CP8679 PEDAL ASSEMBLY COMPLETE - CHROME PLATED - GRAND EA $362

008639 PEDAL SET - BRASS - 45/K52 ST $84

008415 SCREW - PEDAL FACE PLATE/TOPSLIP - BRASS DZ $10

008323 SCREW - PEDAL PIVOT ROD DZ $8

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST $8

008678 PEDAL FACE PLATE - BRASS EA $122

008621 PEDAL FACE PLATE - CHROME PLATED EA $144

CP8349 SCREW - PEDAL PLATE / TOPSLIP (CHROME) DZ $13

005258 PEDAL CUSHIONS (3 PCS.) "RAVIOLI" ST $10

000249 PEDAL LIFT DOWEL W/ PUNCHING - 1/2" x 4" EA $7

007309 TRAPWORK - ROUND LEATHER DISKS - 1" x 7/32" DZ $8

008847 PEDAL PIVOT ROD EA $7

007940 PEDAL PIVOT ROD TEFLON BUSHING DZ $18

Page 19



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

007286 PEDAL PIVOT ROD LEATHER DISKS - 15/32" x 3/16" x 3/32" DZ $10

009129 PEDAL ROD HEX NUT - BRASS EA $10

008649 PEDAL ROD JAM NUT BRASS - 1/4" DZ $8

008650 PEDAL ROD LOCKWASHERS - BRASS - 1/4" DZ $8

008661 PEDAL ROD THUMB NUT - BRASS (CURRENT) DZ $8

CP9129 PEDAL ROD HEX NUT - CHROME EA $13

CP8649 PEDAL ROD JAM NUT CHROME - 1/4" DZ $8

CP8650 PEDAL ROD LOCKWASHERS - CHROME - 1/4" DZ $14

CP8661 PEDAL ROD THUMB NUT - CHROME (CURRENT) EA $8

006828 PEDAL RODS W/ HDW. - ADJUSTABLE - BRASS (3 RODS) ST $77

CP6828 PEDAL RODS W/ HDW. - ADJUSTABLE - CHROME (3 RODS) ST $83

007910 PEDAL ROD RUBBER BUSHING (USE W/ #007281) DZ $9

007281 LYRE LEATHER BUSHING (USE WITH #007910) DZ $7

008674 PEDAL ROD UNDERPLATE W/O SCREWS (3 PCS.) ST $30

008001 PEDAL SLIPPERS - RIGHT/LEFT ST $15

008002 PEDAL SLIPPERS - CENTER EA $8

COVERS ARE BLACK CANVAS WITH WHITE NON-WOVEN INTERIOR 

WITH THE STEINWAY & SONS LOGO ON THE FALLBOARD

006750 PIANO COVER - MACINTOSH - BLACK - D EA $345

006749 PIANO COVER - MACINTOSH - BLACK - B EA $330

006748 PIANO COVER - MACINTOSH - BLACK - A EA $301

006747 PIANO COVER - MACINTOSH - BLACK - L/O EA $315

006746 PIANO COVER - MACINTOSH - BLACK - M EA $288

006745 PIANO COVER - MACINTOSH - BLACK - S EA $278

PINBLOCK - see WRESTPLANK

008721 PLATE LUG WEDGE - 1/4" EA $8

008719 PLATE LUG WEDGE - 1/8" EA $8

008720 PLATE LUG WEDGE - 3/16" EA $8

008722 PLATE LUG WEDGE - 5/16" EA $8

SEE END OF LIST FOR PLATE NUT, BOLT, AND SCREWS CONTENT CHART

006506 PLATE NUTS, BOLTS & SCREWS - D ST $250

006505 PLATE NUTS, BOLTS & SCREWS - B ST $254

006507 PLATE NUTS, BOLTS & SCREWS - A (0-89000) ST $250

006508 PLATE NUTS, BOLTS & SCREWS - A (89001-117000) ST $250

006509 PLATE NUTS, BOLTS & SCREWS - A (117001-163000) ST $250

006510 PLATE NUTS, BOLTS & SCREWS - A (163001-321000) ST $250

006500 PLATE NUTS, BOLTS & SCREWS - S/M/L/O ST $250

Page 20



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008274 PLATE/BELL BOLT- CHROME - B/D EA $10

008255 PLATE NUT - BELL BOLT - B EA $9

008273 PLATE/HEX BOLT - CHROME - 3/8 x 6 EA $10

008264 SCREW - PLATE FLANGE COVER STRIP DZ $8

008268 SCREW - PLATE LAG - 3" - D EA $9

008269 SCREW - PLATE LAG - CHROME  - 4" EA $10

008383 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16 DZ $49

008379 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16 DZ $49

008354 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16 DZ $48

006689 REPETITIONS (SET) - NYI EA $1,288

005740 REPETITIONS (SET) - HAMBURG ST $1,288

005136 REPETITIONS (SET) - HAMBURG - PRE '84 ST $1,246

008449 SCREW - ACTION FLANGE ST $45

009050 REPETITION SPRINGS - BASS ST $25

009049 REPETITION SPRINGS - TREBLE ST $9

005636 REPETITION SUPPORT FLANGES ST $210

008655 REPETITION SUPPORT SPOONS ST $77

004406 REP. SUP. FELT - 3/16" x 34 1/2" (USE W/ 004403) EA $6

004403 REP. SUPPORT FELT - 5/8" x 34 1/2" (USE W/ 004406) EA $14

Our current New York Improved (NYI) repetition is the recommended component to use 

when replacing repetitions on any vintage Steinway & Sons grand that utilizes the 

metallic action rail with the rosette flange design. The improved placement of the jack 

center (approx. 1 mm closer to the flange) provides the optimum action efficiency – 

particularly when used with the New York Improved (NYI) hammershanks and flanges.  

Page 21



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008387 SCREW -  LOCKBAR/SIDE PROTECT. RUNNER - B - 2 1/4" - (6 PCS.) ST $8

008342 SCREW - BUTT HINGE - #8 x 5/8" - B/D DZ $8

008415 SCREW - BUTT HINGE (CASE) - #10 x 1 1/4" DZ $10

008381 SCREW - CASTER SOCKET - #12 x 2 1/4" DZ $8

008343 SCREW - DESK BUTT HINGE/DESK SUPPORT- BRASS - 8 x 5/8 DZ $8

008376 SCREW - DESKFRAME SLIDE DZ $8

008425 SCREW - DESKFRAME SLIDE - (REAR) - D DZ $8

008375 SCREW - FOR DESK FRAME INDEXING BRACKET DZ $9

008337 SCREW - DESK FRAME ADJUSTABLE SUPPORT BAR (BRASS) - 6 X 5/16 DZ $8

CP8337 SCREW - DESK FRAME ADJUSTABLE SUPPORT BAR (CHROME) DZ $28

008278 SCREW - KEYBLOCK PLATE - BLACK DZ $8

008311 SCREW - KEYLID END/DESK FRAME STOP DZ $9

008346 SCREW - KEYLID PIVOT BAR DZ $8

008232 SCREW - KEYLIP HINGE - BLACK - #4 x 1/2" DZ $8

008133 SCREW - KEYSLIP/KEYBLOCK GUIDES DZ $8

008356 SCREW - LEG & LYRE BUTTON/WEDGE - 2 1/4" DZ $8

008392 SCREW - LOCKBAR/SIDE PROTECT. RUNNER ALL MODELS - 2 1/2" - (6 PCS.) ST $8

008323 SCREW - PEDAL PIVOT ROD DZ $8

008172 SCREW - SOSTENUTO SHIFT LEVER PIVOT BLOCK DZ $8

008192 SCREW - DAMPER/SHIFT LEVER PIVOT BLOCK DZ $8

CP8349 SCREW - PEDAL PLATE / TOPSLIP / CASE BUTT HINGE (CHROME) DZ $13

008349 SCREW - PEDAL PLATE / TOPSLIP / CASE BUTT HINGE DZ $13

008264 SCREW - PLATE FLANGE COVER STRIP DZ $8

008268 SCREW - PLATE LAG - 3" - D EA $9

008269 SCREW - PLATE LAG - CHROME  - 4" EA $10

008383 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16 DZ $49

008379 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16 DZ $49

008354 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16 DZ $48

008347 SCREW - KEYFRAME REST BLOCK (MONKEY SPRING BLOCK) - S/M/L/O/A/B/D DZ $8

008324 SCREW - SOSTENUTO ROD BRACKET DZ $8

CP8345 SCREW - T. STICK HINGE/KEYBLOCK PLATE - CHROME DZ $11

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ $8

008420 SCREW - TOPSTICK TONGUE DZ $16

008231 SCREW - KEYLIP HINGE - BLACK - #4 x 5/16" DZ $8

008345 SCREW -T. STICK & DSK HINGE/KEYBLOCK PLATE - BRASS DZ $8

008180 SCREW - KEYBLOCK-VERTICALS EA $5

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST $8

008443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - BRASS DZ $7

CP8443 SCREWS - CONTINUOUS HINGE (66 PER HINGE) - CHROME DZ $10

000340 SIDE PROTECTION RUNNERS 90 1/8" - EBONY - D PR $163

000339 SIDE PROTECTION RUNNERS 66" - EBONY - B PR $148

008392 SCREW - LOCKBAR/SIDE PROTECT. RUNNER - ALL MODELS (6 PCS.) - 2.5" ST $8

Page 22



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

SEE END OF LIST FOR "SOSTENUTO ROD COMPLETE " CONTENTS

006820 SOSTENUTO ROD COMPLETE - D/C ST $197

006818 SOSTENUTO ROD COMPLETE - B ST $197

006817 SOSTENUTO ROD COMPLETE - S/M/L/O ST $197

007287 SOSTENUTO - LEATHER DISKS - 15/32" x 3/16" x 3/16" DZ $8

000051 SOSTENUTO - MONKEY EA $14

000052 SOSTENUTO - MONKEY GUIDE BLOCK EA $9

008865 SOSTENUTO - MONKEY SPRING - FLAT EA $9

000053 SOSTENUTO - MONKEY SPRING BLOCK EA $9

009027 SOSTENUTO - ROD BRACKET EA $16

007933 SOSTENUTO - ROD BUSHING ENDS (4 PCS.) ST $13

007934 SOSTENUTO - ROD BUSHING/SLEEVE (4 PCS.) ST $8

008910 SOSTENUTO - ROD ONLY - 45/K52 EA $97

008634 SOSTENUTO - ROD ONLY - D EA $97

008633 SOSTENUTO - ROD ONLY - A/B EA $97

008632 SOSTENUTO - ROD ONLY - S/M/L/O EA $97

008324 SCREW - SOSTENUTO ROD BRACKET DZ $8

000274 SOUNDBOARD SHIMS - SPRUCE - 100' ST $96

008858 SPRING - DAMPER UNDERLEVER FRAME - COIL EA $7

008873 SPRING - KEYFRAME SHIFT #17 EA $10

008863 SPRING - TRAPWORK - #4 FLAT EA $14

008861 SPRING - TRAPWORK - #8 SPIRAL COIL EA $7

008643 SPRING - UNDERLEVER (OLD STYLE - FLAT) ST $20

004458 BELLYMAN FELT - 56" x 1"  (3 pcs.) ST $40

006336 STRINGING CLOTH & FELT (SET) - D EA $85

006335 STRINGING CLOTH & FELT (SET) - B EA $74

006334 STRINGING CLOTH & FELT (SET) - S/M/L EA $74

007210 STRINGING TAPE - YARD YD $6

Page 23



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

007938 TEFLON BUSHINGS - LARGE PK $43

007935 TEFLON BUSHINGS - SMALL PK $40

006808 TEFLON KIT (Icludes center pins - 20.5 LONG, 20 SHORT, 20 LONG EA $240

Pkg of large & small bushings, pin vise, and Teflon bushing inserter

006887 TOOLS - BACKCHECK INSTALLATION BLOCK EA $38

099551 TOOLS - CENTER PIN REAMER - .048 EA $32

099553 TOOLS - CENTER PIN REAMER - .049 EA $32

099556 TOOLS - CENTER PIN REAMER - .0500 EA $32

099560 TOOLS - CENTER PIN REAMER - .0510 EA $32

006839 TOOLS - DAMPER HOOK TOOL EA $98

006224 TOOLS - DAMPER UNDERLEVER (LEAD) PLIERS EA $184

006864 TOOLS - HAMMER FILING RAIL - GRAND EA $45

006244 TOOLS - HAMMER VOICING BLOCK EA $20

006841 TOOLS - KEY DIP (TOUCH) BLOCK - .390 EA $20

006804 TOOLS - KEY DIP (TOUCH) BLOCK - .400 EA $21

006871 TOOLS - KEY DIP (TOUCH) BLOCK - .420 EA $20

006857 TOOLS - FACTORY KEY LEVEL - ALUMINUM EA $176

006403 TOOLS - LID PROP BLOCK - VERTICAL EA $31

006243 TOOLS - REPETITION SPRING TOOL EA $40

006242 TOOLS - REPETITION SPRING TOOL (HAMBURG) EA $43

006859 TOOLS - SOSTENUTO HEIGHT GAUGE EA $57

006879 TOOLS - WIRE BENDING PLIERS (NEEDLE NOSE) EA $71

099366 TOOLS - WRESTPLANK DRILL BIT .250" DIA. EA $20

Page 24



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

097192 TOP BOX: S/M/L/O  -  REQUIRED FOR TOP LID SHIPMENTS EA $464

099419 TOP BOX: B   -  REQUIRED FOR TOP LID SHIPMENTS EA $541

099420 TOP BOX: D  -  REQUIRED FOR TOP LID SHIPMENTS EA $567

026519 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - D EA $5,622

026517 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - B (PRE S/N 572441) EA $5,508

026515 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - A EA $5,544

026513 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - L EA $4,717

026507 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - M EA $4,650

026505 TOP W/ LOCKBAR & TOPSLIP - EBONY FINISHED - S EA $4,584

026518 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - D EA $2,658

026516 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - B (PRE S/N 572441) EA $2,218

026514 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - A EA $2,701

026512 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - L EA $2,383

026506 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - M EA $1,955

026504 TOP W/ LOCKBAR & TOPSLIP - EBONY UNFINISHED - S EA $1,855

036508 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFIN.- 1014 CHIP. EA $2,431

036516 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - B (PRE S/N 572441) EA $3,617

036514 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - A EA $3,617

036512 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - L EA $3,269

036506 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - M EA $3,036

036504 TOP W/ LOCKBAR & TOPSLIP - MAH. UNFINISHED - S EA $2,973

046508 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFIN.- 1014 CHIP. EA $2,946

046510 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFIN.- 501 LOUIS EA $3,617

046512 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFINISHED - L EA $3,596

046506 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFINISHED - M EA $3,430

046504 TOP W/ LOCKBAR & TOPSLIP - WAL. UNFINISHED - S EA $3,247

TOP LID NOTES: 

 Tops are sold with the front and rear sections, and include the lockbar and topslip.  The continuous hinge, 

the butt hinges, screws and rubber buttons are not included.   

 The tops are no longer made with locks, so a lock would not be included.    

 If the top is wood other than ebony, a part of the piano should be sent in to the Parts department for color 

matching.   A cheekblock should be fine.   

 Model B tops have changed over the years, so a serial number would be important.  There’s a good chance 

that the bevel on the edge may also have changed.  In some situations, we may need a paper tracing of the 

top in order to duplicate it. 

 Tops cannot be delivered to residential areas. The top shipping box is a special packing box that allows us 

to ship the top safely.  Shipping would be via truck, freight collect, which means that you would pay the 

charges directly to the driver.  We usually use Keyboard Carriage.  The shipping address must be able to 

accommodate a large tractor trailer and cannot be in a residential neighborhood.  (The trucks usually can’t 

maneuver through the streets.) 

 Tops are considered a special order, and a 50% deposit is required before starting the work.  If the top is 

returned, there will be a restocking fee.  ETA is 3 – 6 months.  If the model is in current production it may 

take less time. 

Page 25



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

023174 TOPSLIP - EBONY UNFINISHED - D EA $80

026555 TOPSLIP - EBONY FINISHED - S/M/L/O/A/B EA $233

023182 TOPSLIP - EBONY UNFINISHED - S/M/L/O/A/B EA $57

036555 TOPSLIP - MAH. FINISHED - S/M/L/O/A/B EA $233

004415 TOPSLIPS FELT - BLACK W/ ADHESIVE - 1 1/2" x 54" EA $7

CP8349 SCREW - PEDAL PLATE / TOPSLIP (CHROME) DZ $13

008349 SCREW - PEDAL PLATE / TOPSLIP / CASE BUTT HINGE DZ $13

026526 TOPSTICK TONGUE - EBONY FINISHED EA $100

023191 TOPSTICK TONGUE - EBONY UNFINISHED EA $32

036526 TOPSTICK TONGUE - MAH. FINISHED EA $113

033191 TOPSTICK TONGUE - MAH. UNFINISHED EA $31

046526 TOPSTICK TONGUE - WAL. FINISHED EA $113

043191 TOPSTICK TONGUE - WAL. UNFINISHED EA $74

007964 TOPSTICK TONGUE WASHERS DZ $8

008420 SCREW- TOPSTICK TONGUE DZ $16

CP8420 SCREW- TOPSTICK TONGUE (CHROME) DZ $20

026524 TOPSTICKS W/O HARDWARE - EBONY FINISHED EA $253

026523 TOPSTICKS W/O HARDWARE - EBONY UNFINISHED EA $111

036524 TOPSTICKS W/O HARDWARE - MAH. FINISHED EA $299

036523 TOPSTICKS W/O HARDWARE - MAH. UNFINISHED EA $115

046524 TOPSTICKS W/O HARDWARE - WAL. FINISHED EA $320

046523 TOPSTICKS W/O HARDWARE - WAL. UNFINISHED EA $117

006525 TOPSTICK HARDWARE KIT ST $21

Includes Topstick tongue screw (008420), 3 washers (007964), hinge (008571),

and 6 hinge screws (008345)

008571 HINGE - [TOPSTICK - GRAND]  [DESK - B/D] EA $13

CP8571 HINGE - CHROME- [T. STICK- GRD.] [DESK B/D] EA $21

008345 SCREW -T. STICK & DSK HINGE/KEYBLOCK PLATE - BRASS DZ $8

CP8339 SCREW - DESK/TOPSTICK HINGE - CHROME - #4 x 3/8" DZ $9

CP8345 SCREW - T. STICK HINGE/KEYBLOCK PLATE - CHROME DZ $11

CP8343 SCREW - TOP BUTT HINGE/DSK SUPRT- CHROME- #8 x 5/8 DZ $8

004321 TRAPWORK - BLACK NYLON BUSHINGS DZ $10

008622 TRAPWORK - PIVOT PINS EA $7

007309 TRAPWORK - ROUND LEATHER DISKS - 1" x 7/32" DZ $8

000301 SHIFT/DAMPER LEVER PIVOT BLOCK - GRAND EA $6

009006 TRAPWORK - SHIFT PEDAL LEVER (IRON) EA $82

003683 TRAPWORK - DAMPER LEVERS - D ST $85

003682 TRAPWORK - DAMPER LEVERS - B ST $77

003681 TRAPWORK - DAMPER LEVERS - S/M/L/O ST $77

003317 TRAPWORK - SOSTENUTO LEVERS - D (2 PCS.) ST $111

003316 TRAPWORK - SOSTENUTO LEVERS - B (2 PCS.) ST $106

003315 TRAPWORK - SOSTENUTO LEVERS - S/M/L (2 PCS.) ST $102

008807 TRAPWORK - SCREW HOOK - 3" EA $6

008172 SCREW - SOSTENUTO SHIFT LEVER PIVOT BLOCK DZ $8

008192 SCREW - DAMPER/SHIFT LEVER PIVOT BLOCK DZ $8

Page 26



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008777 TUNING PINS - 2 1/2'' (2/0) ST $105

008780 TUNING PINS - 2 1/2'' (3/0) ST $105

008783 TUNING PINS - 2 1/2'' (4/0) ST $105

008781 TUNING PINS - 2 3/4'' (3/0) ST $105

008776 TUNING PINS - 2 3/8'' (2/0) ST $105

008785 TUNING PINS - 2 3/8'' (3/0) ST $105

008774 TUNING PINS - 2 3/8'' (4/0) ST $105

008779 TUNING PINS - 2 5/8'' (2/0) ST $105

008782 TUNING PINS - 2 5/8'' (3/0) ST $105

005729 UNDERLEVER (DAMPER) FRAME - C/D EA $92

005728 UNDERLEVER (DAMPER) FRAME - A/B EA $92

005727 UNDERLEVER (DAMPER) FRAME - S/M/L/O EA $92

006643 UNDERLEVER SET - UNMOUNTED - GRAND (NY) (CURRENT ROSETTE FLANGE) EA $667

006268 UNDERLEVERS MOUNTED TO FRAME - C/D (NY) EA $917

006267 UNDERLEVERS MOUNTED TO FRAME - A/B (NY) EA $892

006266 UNDERLEVERS MOUNTED TO FRAME - S/M/L/O (NY) EA $892

000041 UNDERLEVER FRAME PIVOT BLOCK - FIT TO SIZE EA $9

005256 UNDERLEVER FRAME SPRING RAVIOLI (6 PCS.) ST $14

009102 UNDERLEVER LEADS (NEW STYLE) DZ $25
008449 SCREW - ACTION FLANGE ST $45

008653 SCREW - UNDERLEVER WIRE SOCKET ST $15

008793 UNDERLEVER WIRE SOCKETS ST $15

004457 UNDERLEVER FRAME CUSHION FELT - 1" x 43" EA $13

WHIPPEN - see REPETITION

004118 WRESTPLANK - C/D EA $935

004116 WRESTPLANK - A/B EA $860

004115 WRESTPLANK - S/M/L/O EA $844

004006 WRESTPLANK (UNCUT "BOOK") - C/D 45MM THICK EA $1,512

004005 WRESTPLANK (UNCUT "BOOK") - S/M/L/O/A/B 42MM THICK EA $1,386

000319 WRESTPLANK PLUGS - 5/16" DIA. x 1 3/4" DZ $21

099366 TOOLS - WRESTPLANK DRILL BIT .250" DIA. EA $20

008383 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16 DZ $49

008379 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16 DZ $49

008354 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16 DZ $48

008352 SCREW - LEG PLATE LK./KEY BLK/LYRE/WPLANK (4 PCS.) ST $8

Page 27



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

BOX/CARTON CHARGES

097195 KEYFRAME W/ KEYS - SHIPPING CARTON EA $175

097875 ACTION FRAME - SHIPPING CARTON EA $28

097193 MULTIPLE LEG - OUTER CARTON EA $87

097194 SINGLE LEG & LYRE - CARTON EA $55

097192 TOP BOX: S/M/L/O EA $464

099419 TOP BOX: B EA $541

099420 TOP BOX: D EA $567

STEINWAY BOUTIQUE

006869 WORK APRON - BLACK, THREE-POCKET W/ LOGO EA $21

006880 TOTE BAG - BLACK, W/ STEINWAY LOGO EA $19

006899 ATTACHE CASE- LANDS END BLACK CANVAS EA $105

10M953 FOLDING UMBRELLA, VENTED - BLACK W/ LOGO EA $39

099688 CERAMIC MUG - W/ GOLD LOGO - BLACK EA $13

006995 ALUMINUM TRAVEL MUG EA $19

006933 CARDS - MODEL D, OVERHEAD - BLANK W/ ENVELOPES (50) BX $40

10M340 POSTER - CROSS SECTION - MODEL M EA $12

10M310 MODEL D CONCERT GRAND POSTER - 24" X 38" EA $12

006917 MOUSE PAD - OVERVIEW MODEL D EA $19

10M914 CROSS PEN W/ STEINWAY EMBLEM EA $70

10M963 BLACK BIC PIVO PEN W/ S&S LOGO (PK/25) PK $33

099692 STEINWAY SOFT COOLER, TAN W/BLACK STRAPS EA $26

006844 MINI-MAG FLASHLIGHT EA $33

10M954 STEINWAY BABY BIB EA $10

006855 BOOK - "MY LIFE W/ THE GREAT PIANISTS " - F. MOHR EA $20

10M800 BOOK - "PEOPLE AND PIANOS" - THEODORE E. STEINWAY EA $20

10M952 BOOK - "PIANO" - JAMES BARRON EA $26

10M048 BOOK - "HENRY THE STEINWAY AND THE PIANO RECITAL" EA $13

006888 BOOK- THE OFFICIAL GUIDE TO STEINWAY PIANOS,  R. KEHL & D. KIRKLAND EA $52

006850 WORLD-WIDE TECHNICAL REFERENCE GUIDE (ON  CD ONLY) EA $40

The World-Wide Technical Reference Guide is the latest edition of our service manual. This edition 
represents an extensive collection of service information that supersedes previous versions and is the 
official service guide for both Hamburg and New York manufacturing plus the Boston and Essex series of 
Steinway designed pianos. The publication consists of 165 pages with full color photos to illustrate 
techniques and procedures.  
Topics by chapter are: 

 Grand Preparation 

 Grand Regulation 

 Grand Dampers and Sostenuto 

 Tuning and Voicing 

 Upright Regulation 

 Specifications and Service Techniques 

 Finish Tips and Techniques 

Page 28



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

006904 GOLF CAP - BLACK, W/ STEINWAY LOGO EA $33

099541 T-SHIRT, BLACK - SMALL EA $15

099545 T-SHIRT, BLACK - MEDIUM EA $15

099569 T-SHIRT, BLACK - LARGE EA $15

099570 T-SHIRT, BLACK - X-LARGE EA $15

099542 T-SHIRT, BLACK - XXL EA $15

099565 T-SHIRT, WHITE - LARGE EA $15

099566 T-SHIRT, WHITE - X-LARGE EA $15

099601 T-SHIRT - LONG SLEEVE STEINWAY BLACK M EA $19

099602 T-SHIRT - LONG SLEEVE STEINWAY BLACK L EA $19

099603 T-SHIRT - LONG SLEEVE STEINWAY BLACK XL EA $19

099604 T-SHIRT - LONG SLEEVE STEINWAY BLACK 2XL EA $21

099609 T-SHIRT - LADIES 3/4 SLEEVE STEINWAY BLACK S EA $22

099610 T-SHIRT - LADIES 3/4 SLEEVE STEINWAY BLACK M EA $22

099611 T-SHIRT - LADIES 3/4 SLEEVE STEINWAY BLACK L EA $22

099612 T-SHIRT - LADIES 3/4 SLEEVE STEINWAY BLACK XL EA $22

099613 T-SHIRT - LADIES 3/4 SLEEVE STEINWAY BLACK 2XL EA $26

099605 T-SHIRT - FUTURE STEINWAY ARTIST CHILD XS EA $12

099606 T-SHIRT - FUTURE STEINWAY ARTIST CHILD S EA $12

099607 T-SHIRT - FUTURE STEINWAY ARTIST CHILD M EA $12

099608 T-SHIRT - FUTURE STEINWAY ARTIST CHILD L EA $12

099567 SHIRT - GOLF, BLACK - MEDIUM EA $55

099568 SHIRT - GOLF, BLACK - LARGE EA $55

099563 SHIRT - GOLF, BLACK - X-LARGE EA $55

099543 SHIRT - GOLF, BLACK - XXL EA $55

099544 SHIRT - GOLF, WHITE - SMALL EA $55

099564 SHIRT - GOLF, WHITE - MEDIUM EA $55

099547 SHIRT - GOLF, WHITE - LARGE EA $55

099548 SHIRT - GOLF, WHITE - X-LARGE EA $55

099719 STEINWAY HOODED SWEATSHIRT- BLACK  2X- LARGE EA $39

099718 STEINWAY HOODED SWEATSHIRT- BLACK  X- LARGE EA $33

099716 STEINWAY HOODED SWEATSHIRT- BLACK LARGE EA $33

099715 STEINWAY HOODED SWEATSHIRT- BLACK MEDIUM EA $33

The documentary "Note by Note" is available on-line at www.notebynotethemovie.com

Page 29



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

Model Type Caster Approx. Socket
Diameter/Width

A/B/D/K New Style* Brass 008549 1 3/4 x 1 008550

A/B/D/K New Style* Chrome CP8549 CP8550

A/B/D/K Old Style** Brass 008760 2 x 1 008550

S/M/L/O New Style* Brass 008769 1 1/2 x 3/4 008770

S/M/L/O New Style* Chrome CP8769 CP8770

S/M/L/O Old Style** Brass 008794 1 3/8 x 3/4 008799

S/M/L/O Double Rubber 008734 008770

A/B/D/K Double Rubber 008734 008550

40" Upright Brass 008541 1 x 7/8 Not Needed

4510 / 1098 / 140th Brass 008531 008773

1098 Front Single Rubber 008764 008773

1098 Rear Single Rubber 008767 008773

Hamburg Short Leg XL Brass, set of 3 006868 Included w/Set

CASTER CHART

**Old Style - wheel attached by a nut and bolt, and the stem has a cap.

* New Style - wheel does not separate from the assembly, and there is no cap on the stem

NY 7/32 

(Current) NY 3/16

New York

Untapered

Unbored Hamburg

Hamburg

 Untapered-

Unbored

A / B 006214 006254 006274 006284 * 006246

C / D 006215 006255 006275 006285 * 006247

S,M,L,O 006213 006253 006273 006283 * 006241

NY hammers 

to NY Shanks 

NY hammers to 

NY Octagonal

Shanks

NY hammers

 to Hamburg 

Shanks

NY 

hammers to 

Hamburg 

Shanks

Pre '84

Hamburg 

hammers to

Hamburg 

Shanks

A / B 006229 006233 006209 006219 006289

C / D 006230 006234 006210 006220 006290

S, M, L, O 006228 006232 006208 006218 006288

HAMMERS ONLY

HAMMERS GLUED TO SHANKS & FLANGES

* Need to know if it's a NY or Hamburg piano

HAMMER CHART

Page 30



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

008632 1 Rod

007287 8 Leather disks

007933 2 Rod bushing ends

007934 2 Rod bushing sleeves

008324 8 Screw - sostenuto rod bracket

008363 2 Screw - Sostenuto monkey spring

008865 1 Monkey spring

009027 4 Rod bracket

000051 1 Monkey  

000052 2 Monkey guide block

000053 1 Monkey spring block

000241 1 Lift dowel

008633 1 Rod

007287 8 Leather disks

007933 2 Rod bushing ends

007934 2 Rod bushing sleeves

008324 8 Screw - sostenuto rod bracket

008363 2 Screw - Sostenuto monkey spring

008865 1 Monkey spring

009027 4 Rod bracket

000051 1 Monkey  

000052 2 Monkey guide block

000053 1 Monkey spring block

000241 1 Lift dowel

008634 1 Rod

007287 10 Leather disks

007933 2 Rod bushing ends

007934 3 Rod bushing sleeves

008324 10 Screw - sostenuto rod bracket

008363 2 Screw - Sostenuto monkey spring

008865 1 Monkey spring

009027 5 Rod bracket

000051 1 Monkey  

000052 2 Monkey guide block

000053 1 Monkey spring block

000241 1 Lift dowel

PART NUMBER 006817 -  Sostenuto Rod Complete - S/M/L

PART NUMBER 006818 -  Sostenuto Rod Complete - B

PART NUMBER 006820 -  Sostenuto Rod Complete- D

Page 31



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

 
Steinway Rubber Buttons 

 

                                      
 007913 - Black  
 007921 - Brown 

 
007914 – Black 
007922 - Brown 

Grands (S/M/L)  
Vertical (K) 

Desk, rear (against desk support hinge)  
Upper panel frame   

All Grands  
    
Grands (B/D)   
Vertical (K)     
  
   
Vertical (1098) 
Vertical (45-10) 

Keyblock  
Topstick (against hinge)              
Keylid lip, underside 
(against keylid)                    
Upper panel frame 
Upper panel 
Side (Top)    
Upper panel   
Keylid Knob   
 

 
007915 – Black 
007923 - Brown 

 
007916 – Black 
007924 - Brown 

Grands (S/M/L)  
Vertical (K) 
 
 
 
Vertical (1098)  
      
 
Vertical (45-10)      
       

Cornice, inside (against desk frame)   Upper 
panel frame 
Rear top 
Front keylid 
Upper panel 
Rear keylid   
Front keylid   
Upper panel   
Rear Keylid   
Front keylid  
 

ALL Grands   
 
 
 
Vertical (K) 

Top 
Top flap 
Top rear (against each 
other when top flap is 
open) 
Hinge strip   

 
007917 – Black 
007925 – Brown  

 
007919 – Black 
007918 – Brown 

All Grands 
 
 
Grands (S/M/L)  

Top, underside  
(against top surface of rim) 
Lockbar (against cornice)                               
Case cornice  
(against lockbar - when necessary) 
  

Grands (B/D)    
 
Vertical (1098) 
 
Vertical (45-10)
  

Keylid lip 
Top (against keylid) 
Side (top)  
Pinblock (Under top)  
Side (top) 
  

 
007951 – Black 
007926 - Brown 

 
007986 – Black only 

Grands (O/A/B/D)  Desk frame rail, top (against desk,                                     
front - when folded down)  
 

All Grands Topstick, underside 
(against plate strut) 
  

 

Page 32



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

006500 1 Set Nuts, Bots & Screws - S/M/L 

008383 30 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 4 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008354 2 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16

008269 12 SCREW - PLATE LAG - CHROME  - 4"

009031 1 NOSEBOLT #1 - BASS - 8 1/4"

009032 1 NOSEBOLT #2 - MID - 6 1/6"

009033 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008663 1 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009153 1 NOSE BOLT NUT - SMALL

009056 2 NOSE BOLT NUT - LARGE

006499  1 Set Nuts, Bolts & Screws - O

008383 30 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 4 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008354 2 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16

008269 12 SCREW - PLATE LAG - CHROME  - 4"

009031 2 NOSEBOLT #1 - BASS - 8 1/4"

009032 1 NOSEBOLT #2 - MID - 6 1/6"

009033 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008663 2 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009056 2 NOSE BOLT NUT - LARGE

009153 2 NOSE BOLT NUT - SMALL

006505 1 Set Nuts, Bolts & Screws - B

008383 24 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 6 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008269 13 SCREW - PLATE LAG - CHROME  - 4"

009034 1 NOSEBOLT #1 - BASS - 8 9/16"

009035 1 NOSEBOLT #2 - MID - 7 1/2"

009036 1 NOSEBOLT #3 - TREBLE - 6 3/8"

008274 1 PLATE/BELL BOLT- CHROME - B/D

008255 1 PLATE NUT - BELL BOLT 

008663 1 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009153 1 NOSE BOLT NUT - SMALL

009056 2 NOSE BOLT NUT - LARGE

"Plate, Nuts, Bolts and Screws" Contents

Page 33



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

006506 1 Set Nuts, Bolts & Screws - D

008383 42 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008268 6 SCREW - PLATE LAG - 3"

008269 14 SCREW - PLATE LAG - CHROME  - 4"

009037 1 NOSEBOLT #1 - BASS - 8 3/8"

009038 1 NOSEBOLT #2 - MID - 6 3/8"

009039 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008274 1 PLATE/BELL BOLT- CHROME - B/D

008255 1 PLATE NUT - BELL BOLT 

008664 3 WASHER 11/16OD X 3/8ID X .031BRASS

009056 3 NOSE BOLT NUT - LARGE

006507 1 Set Nuts, Bolts & Screws - A  (No. 0-89000)

008383 19 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 3 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008354 3 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16

008269 11 SCREW - PLATE LAG - CHROME  - 4"

009031 1 NOSEBOLT #1 - BASS - 8 1/4"

009032 1 NOSEBOLT #2 - MID - 6 1/6"

009033 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008663 1 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009153 1 NOSE BOLT NUT - SMALL

009056 2 NOSE BOLT NUT - LARGE

008274 1 PLATE/BELL BOLT- CHROME - B/D

008255 1 PLATE NUT - BELL BOLT 

006508 1 Set Nuts, Bolts & Screws - A  (No. 89001-117000)

008383 19 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 3 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008354 3 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16

008269 10 SCREW - PLATE LAG - CHROME  - 4"

009031 1 NOSEBOLT #1 - BASS - 8 1/4"

009032 1 NOSEBOLT #2 - MID - 6 1/6"

009033 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008663 1 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009153 1 NOSE BOLT NUT - SMALL

009056 2 NOSE BOLT NUT - LARGE

008274 1 PLATE/BELL BOLT- CHROME - B/D

008255 1 PLATE NUT - BELL BOLT 

"Plate, Nuts, Bolts and Screws" Contents

Page 34



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

006509 1 Set Nuts, Bolts & Screws - A  (No. 117001-163000)

008383 18 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 4 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008354 2 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16

008269 10 SCREW - PLATE LAG - CHROME  - 4"

009031 1 NOSEBOLT #1 - BASS - 8 1/4"

009032 1 NOSEBOLT #2 - MID - 6 1/6"

009033 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008663 1 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009153 1 NOSE BOLT NUT - SMALL

009056 2 NOSE BOLT NUT - LARGE

008274 1 PLATE/BELL BOLT- CHROME - B/D

008255 1 PLATE NUT - BELL BOLT 

006510 1 Set Nuts, Bolts & Screws - A  (No. 163001-321000)

008383 19 SCREW - PLATE/WRESTPLANK - 1 3/8 x 5/16

008379 3 SCREW - PLATE/WRESTPLANK - 2 1/4 x 5/16

008354 3 SCREW - PLATE/WRESTPLANK - 2 3/4 x 5/16

008269 13 SCREW - PLATE LAG - CHROME  - 4"

009031 1 NOSEBOLT #1 - BASS - 8 1/4"

009032 1 NOSEBOLT #2 - MID - 6 1/6"

009033 1 NOSEBOLT #3 - TREBLE - 6 5/8"

008663 1 SMALL WASHER 9/16 X .260 X .040

008664 2 WASHER 11/16OD X 3/8ID X .031BRASS

009153 1 NOSE BOLT NUT - SMALL

009056 2 NOSE BOLT NUT - LARGE

008274 1 PLATE/BELL BOLT- CHROME - B/D

008255 1 PLATE NUT - BELL BOLT 

"Plate, Nuts, Bolts and Screws" Contents

Page 35



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

NOTES:

Page 36



ITEM #  DESCRIPTION
UNIT OF 

MEASURE
  PRICE 

 
 
 
 
 

Steinway & Sons 
One Steinway Place, Long Island City, NY 11105 

 

Parts Department Order Form 
 

Orders can be placed by: 
Email:  parts@steinway.com 

Fax:  718-267-3415 or Toll Free Fax: 866-783-4692 
 

    Customer Number: 

    Name:   P.O. #: 

    Address: 

    City, State, Zip: 

    Phone Number:   Email: 

    Credit Card Number:   Exp.  

  
PART # QTY DESCRIPTION 

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

   

 

Page 37

* Please use only phone or fax if you are supplying your credit card number. 
*


